	
	MITOSIS
	MEIOSIS

	Chromosome number stays the same
	
	

	Chromosome number divides in half
	
	

	DNA must first replicate
	
	

	Takes place in somatic (body) cells
	
	

	Takes place in sex cells
	
	

	Divides once
	
	

	Divides twice
	
	

	Makes 2 cells
	
	

	Makes 4 cells
	
	

	Used for sexual reproduction
	
	

	Used for asexual reproduction
	
	

	Cells made are different from their parent cells
	
	

	Cells made are identical to their parent cells
	
	

	Used for growth
	
	

	Used only for reproduction
	
	

	If you start with 40 chromosomes, you end with 20 chromosomes
	
	

	If you start with 40 chromosomes, you end with 40 chromosomes
	
	

	Makes gametes
	
	

	Makes daughter cells
	
	

	Makes haploid cells
	
	

	Makes diploid cells
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1. How many sources of genetic material are involved in asexual reproduction?

In sexual reproduction?

2. Name five types of asexual reproduction.

3. Why is mitosis necessary for asexual reproduction?

5. What are gametes? How is a zygote produced from gametes?

6. Name one advantage and one disadvantage of sexual reproduction.

7. How are both mitosis and meiosis necessary for sexual reproduction?
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1. How is the chromosome number of a gamete different from the chromosome

number of a somatic cell?

2. What types of cells are diploid? Haploid?

3. What is the purpose of meiosis?

4. What is another name for Meiosis I?

5. How is the purpose of Meiosis I different from the purpose of Meiosis II?

6. Name five sources of variation meiosis provides.

7. Describe crossing-over.





Mitosis and Meiosis Practice EOC Questions

1. Before mitosis begins, which happens before the nucleus starts dividing?

A. The cytoplasm separates.                             B. The DNA replicates.

C. The sister chromatids separate.                    D. The homologous chromosomes cross over.

2. Why is meiosis important for sexual reproduction?

A. It allows the zygote formed from fertilization to have triple the chromosome number of the organism.

B. It allows gametes to have twice the original number of chromosomes of the organism.

C. It allows gametes to have half the original number of chromosomes of the organism.

D. It allows the zygote formed from fertilization to have half the original number of chromosomes of the organism

3. Which process produces the most variation within a species?

A. asexual reproduction           
 B. sexual reproduction             
 C. mitosis                 
D. cloning

4. During which phase of the cell cycle is the cell growing and preparing for cellular division?

A. cytokinesis         

B. anaphase             

 C. prophase             
D. interphase

5. What is the result when a single cell reproduces by mitosis?

A. two cells with genetic material identical to the parent cell       B. two cells with half the genetic material of the parent cell

C. four cells with half the genetic material of the parent cell        D. four cells with genetic material identical to the parent cell

6. How are sexual reproduction and asexual reproduction different?

A. Sexual reproduction produces offspring identical to the parents, but asexual reproduction produces offspring with traits from both parents.

B. Asexual reproduction produces offspring identical to the parents, but sexual reproduction produces offspring with traits from both parents.

C. Sexual reproduction only occurs in multicellular organisms, but asexual reproduction only occurs in unicellular organisms.

D. Asexual reproduction only occurs in multicellular organisms, but sexual reproduction only occurs in unicellular organisms.

7. Which characteristic is present in offspring produced by sexual reproduction, but is missing in offspring produced by asexual reproduction?

A. an identical copy of parent chromosomes                        B. twice the number of parent chromosomes

C. only half the number of parent chromosomes                  D. an independent assortment of parent chromosomes
8. A student observes a typical onion root tip where many of the cells have just successfully completed mitosis. Which statement best explains what must have happened to result in cells that only have half as many chromosomes as all of the other cells in the same section of the tip?
A. The parent cell completed mitosis after undergoing interphase.    

B. The parent cell completed mitosis after undergoing cytokinesis.

C. The parent cell completed mitosis before undergoing cytokinesis.

D. The parent cell completed mitosis before undergoing interphase.

9. Cell cycle checkpoints are proteins that monitor and regulate the progress of the cell cycle in eukaryotic cells. Which statement best describes what would most likely happen if a cell is permitted to progress to mitosis without the preparation stage of interphase?

A. The new cells would have all of the organelles except the nucleus.

B. The new cells would have all of the organelles except the mitochondria.

C The number of chromosomes in the daughter cells would be the same as the number of chromosomes in the parent cell.

D. The number of chromosomes in the daughter cells would be different from the number of chromosomes in the parent cell.

10. Why is the process of meiosis important to sexual reproduction?

A. It provides genetic variation in offspring.                                      B. It doubles the number of chromosomes in offspring.
C. It reduces the number of alleles from parent to offspring.              D. It produces a hybrid of all genetic traits in offspring.
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